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Time Th;jeé_ Hours : . S e 3 : - E Max:lmum ! 30 Weightage

B S | General Instructlons | IR | o
1 In cases where chozces are provzded students can attend all queetzons in each sectwn

i 9, | The mzmmum number of questrons to.be. attended from the Sectmn/Part shall remam the same

' 3. There will be an overall cellmg for each Sectzon ! Part that is equwalent to the maximum we.',ghtage .' -
of the Sectwn / Part :

Part A
" Answer any .four queetions

o . Each questwn carnes 2 weLghtage
_ ‘ 1 What do you mean by IRR Method ? And explaln the declslon rules of IRR
B _ 2 _What isEPS? And how it is caleulated ? - o
3. Compare Econormc Value Added (EVA) and Market Value Added (MVA)
4. Destribe the ﬁnanmal evaluation of Leasmg

5. Explam Merger Procedure of firms,

6. x_ Explain Leverage eﬂ'ect-on shareholdere risk. _

. Differentiate Horizontal Merger and'-V,ertical Merger". .
R S N (4 x 2 = 8 weightage)
Part B |

Answer any four questions.
Each questzon carries 3 wezghtage

8. Compare Net Present Value (NPV) and Internal Rate of Return Methods (IRR) ‘ o
el Turn over




10.
11.

i Compute the market
“return of (i) 15 % ; (11) 10 % ; and (111) 5'% orvits: retained earnmgs

12:.::3{-‘2-:’

fcompany has before it an optlon of adoptmg (1) 50 % and (n) 75% d1v1dend payout ratlo

1

2 : . S "'C'1955

"Cons1der a ﬁrm that has ex1st1ng assets in Wthh 1t has cap1tal invested of z 100 crores. The
- after-tax operatmg inicoine on assets- 1n-place i’ 15 crore. The return on capital employed of 15%
is expected to be sustained; to perpetulty, and company has a cost of’ cap1tal ‘of- 10% Est1mate the‘

present value of economlc value added (EVA) of the firm from its assets m-place

What do you mean Takeover of a ﬁrm ? And explam Take over Procedures of Flrms

“.ce of the'company S, quoted shares as per Walter 'S, model 1f 1t can earn a

Zilitd. has two projects under cons1derat1on A and B, each costmg 7 60 lakhs: The prOJects are’
mutually exclusive. Life for project A i isd years and prOJect Bis3 years Salvage value NIL for both

| ,. the pro_}ects Tax Rate 33. 99% Cost of Cap1tal is 16%. Net Cash Inflow (in Lakhs) o o

} ',df'

At the end of the year | PI‘Q}GCtA PrOJectB B PV @15% |
2 i e o 756_ 1
3 | 10 | 50 0.685
4 50 — 0.572

| Calculate NPV

13.

14.
15.

Explaln the ﬁnanc1al unpact of: Merger of two dlfferent orgamsatlons

PartC: - .-

- Answer any two questions.
Each questwn carries 5 weightage.

What i is D1v1dend Pohcy ? And explain the factors that 1nﬂuence the dividend policy ¢ of a Company .

A Ltd is cons1der1ng takeover of B Ltd and C Ltd The ﬁnanmal data for the three cornpames are
as follows : : ' :

Partwulars | | o ALtd, BLtd. Cltd.

Equlty Share Cap1ta1 of Rs 10 each (Rs crores) - 450 180 - . 90
Earmngs (Rs. crores) | .. .90 18 18

Marketprxce ofeach share (Rs) S SR 60 37 46

(4 %3 = 12 welghtage)'-




: two compames

; Assummg that the management of the two compames has agreed to exchange shares in proportlon o
to: : :

17.

ot

B T - c1955

. Calc'ulate :

(1) Prlce earnmgs ratios. |

(u) Earnmgs per share of Altd. aﬁ;er the acqulsmon of B Ltd and CLid. separately W111 you'

- recommend the merger of elther/both of the compames ?d ustlfy you.r answer
Company Xi 1s conmdermg the purchase of company Y The followmg are the ﬁnanmal data of the
o 'Compaay‘X' B : Company Y '

" Number of Share .. %4,00,000 - 1,00,000

Earmngs per share (EPS) o oz 6 . e 3 '4.'50'
Market vaIue per share ) - % 30 . % 20 ;

(1) The relatwe earnmgs per share of the two ﬁrms

(11) 4 share of company X for every 5 shares held in company Y.

- Youare requ1red to 111ustrate and comment on the 1mpact of merger on the 1mpact of merger on the |
. EPS. ‘

'Wnte a detalled crltlcaI note on F1nanc1a1 Leverage and Fmanclal Decision.

(2 X 5 =10 we1ghtage)




